110 # W= LB 5a? FREFILEAFLFBE [HF#]

B (F8H4 2 T04)
’@RE%@LE—&«(U)“’?‘Q Xjgh~ ypheht e3> A~ BAagh d A~ BAWIFE R
+y+3= Omi—ﬁﬁl’i’iﬁc‘D’ﬂ]CD%}imﬁx*]‘L@_}; °

2. ¢ vz xSy =f(X)=a +bx* +cx+d & KT = 6E
MF @)=l f(2-a)=4-p =+ =
(D% kT ey sdey=F(X) PR3 = B2
(dma,d % F#? ad =3

Al f(x)= °

— — 3—L — —

3. P AAOB* » MecOA* OM=—MANecOB* ON=>NB » 2t BM 22 AN 2 ** P > g

N |~
\)

sin ZAOP = o

4. 4o > #— BABA B SR LA X G A4 E 5x4=20 B I 2o
PARHZ R RS P E AR NI 2 ehe AT B B
BRI SRR - oS o Pl el VRS 2 £z B
TR G °

K F(X):JOX(X—t)-sinztdt ' R F'(%)=— °

6. & > #23% 2sinX+3cosx =K tLT‘f"\:Fé&|:O Z]" 33 BAAEF RKefR S

1. # 33 Ie o
o 5 ; k(k+2)(k 13—

8. & nkeN, ¥ CX+CX=C], pl#st(n k= o (RHA LA

9. 4+ \/433 82 434 2 B et Wiy o A h] mgxw\gzq C 29 g4
s

B HIA sl



10. § - 58 d Sx6MB & * Ajire R i 4o+ B ] B BIEFR MR
Ui 2o a3 T3 pBRAATDT H ERa fF4 5 T45%
Frhd ABie T ¥ - Ho RS BCDEFH ¢ — B

%R G LR S s UE

11 /¢ 7 = B-PABC » % LAP=(-4,5-2) » BP=(1,-2,2) - CP=(-6,-5,4) - % #

a,fp ¥ it

@—aﬁ—ﬂ@‘”ﬁ ol E RMla-f2EL_ e

12, © aofFtadc b 38 50 f(x)=x" +ax®+bx’ +cx* +dx> +ex? + fx+g - # ¢ a,b,c,d,e, f,g 5 #

A9 efp B 2L B EX XX+ 5 F(X) AFIN o Pk i e 5 380 f(X)

[
. .3 3
1. 3}:0<X<£ ! sin3xsin” X+ cos3Xcos X+ 1 bl EL e
4 1+ cos4x 6cos2X
14. ¢ i H 32 AABC s 5 ¥ 6HA-AB=3HB.BC =4HC-CA > AlsinAz Ea_ o

I NP EEPR(FREI0AL 0 £ 304)

1
1. %#7(a,)m8a=1"a=1>a=2>a=—(@A@,,a,+3)  nx4-
a

n-3

I P H|E - :IE"FK{?:{%( °

2 2

gk BAHFIC L g P 3 SABZFIT fr# [IC 554 » 4 A ~ B
A BREEARE S 7 PR B S 7 2

3.0% = B HOX, Xy, Xy i HX <Xy <Xy o @ rd Gledidk f(X)=ax’ +bx® +ex+d(a>0)
X=X, X3 F B > ¥ f(X)=Xs, F(X5)=% > 3 Fd xeh fg5¢

|38(F (0) +26F () + | (F(00—30) =049 8 F 12 B dic + 3P0 2«



0 E#R: F LR o? FRFEFLBZLIRERE [EFH])
~ v B AEE (RS £ T04)
7410 + 4415

10

[

2. FO0=3%"+9x" +5x+1

3 339
DY
4. 8

95
5 E_ﬁ
"6 8
6. 3<k<+13
7. 2

36
8. (n,k)=(21,5)=(21, 16) =(20349, 1) =(20349, 20348)
9, 22

11
10. 80
11. -3
12. 336
133, B

3
14, V19
15

SN EEPA (FA104 0 £ 30 4)
1. &



